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1
1.1
NEXCO
1.1.1
Sample_7.F8B
1.1.2
@
()
()
()
Lo
=t :
300
(] (]
(] o
<o N
© ~
300
§’4 =
6 000
600 60
7200
¢))
1.1.3
(kN/m®)
y a 22.50
y t 19.00
y sat 20.00
yc 24.50
y w 9.81
1.1.4
o =1.137
Kh
® =30.0(C)

Kh

tan2(45° - % ) = 0.3333

FORUMS8



1.1.5

1.1.6

1.1.7

1.1.8

case (m) (m)
1 0.000 0.000
(kN/m*)
0.000
0.000
0.000
() )
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
o ck | N/mm? 30.00
oca| N/mm’ 10.00
oca| N/mm’ 10.00
oca| N/mm’ 7.50
oca| N/mm’ 9.00
T al | N/mm’ 0.250
T a2 | N/mm* 1.900
Ta N/mm? 1.000
T oa| N/mm’ 1.80
T oa| N/mm’ 1.80
Ec N/mm? 2.80 x 10°
—_ — SD345
osa| N/mm’ 180.00
( ) osa| N/mm’ 180.00
osa| N/mm’ 200.00
( Es Ec ) n E— 15.0

FORUMS8




1.1.9
(cm) (cm)
10.0 10.0
10.0 10.0
10.0 10.0
10.0 10.0
—_— 10.0
1.1.10
T 2 250 (kN)
4.00 m q= 10.00 (KN/m?)
= 80.0 ( )
1.1.11
€y
@
€))
®
®)
O]
1.1.12

ga = 300.0 (kN/m?)

FORUMS8




1.2
1.2.1
@
case No
1
@
case
1
2
©))
case No No
1
2

FORUMS8




1.2.2 (case-1)
&, N
(]
S
Lo
I Ji
i I
| I
i |
i c
i In
ei !e
i
@
w=0.600 x 24.50 = 14.70 (kN/m?)
@
w=0.600 x 24.50 = 14.70 (kN/m?)
©))
w=0.600 x 24.50 = 14.70 (kN/m?)
@
o}
=1.137 x 0.000 x 22.50 = 0.00 (kN/m?)
=1.137 x 5.000 x 19.00 = 108.01 (KN/m?)
> wd = 108.01 (kN/m?)
@
= 0.000 (kN/m)
= 0.000 (kN/m*)
= 0.000 (kN/m)
sqd = 0.000 (kN/m?)
©))

w = 108.01 + 0.00 = 108.01 (kN/m?)

FORUMS8




phi = pi Kh
2+Khe+pi- +d
ity rdp— o TRLTIANG T dE
bi
phi : zi (kN/m?)
Y (kN/m*)
pi Zi
y (kN/m*)
dz : (m)
Kh :
o2 ¢\ _
Kh = tan’ (45" — - ) = 0.3333
® =30.0 C )
bi : zi (m)
bi =bu n zi
bu (m
n
dp = pi+l pi
d D-
) i
dz A(1-2)
A= (u n
D=-2 Kh tang n
Atz
=y - +C | Atz [
Py o | z |
po
C z=0.0 p = po
@
ph=Kh (qgd+Yo ya+Zo vy )
Kh : = 0.3333
qd : = 0.00 (kN/m?)
Yo : = 0.000 (m)
ya: = 22.50 (kN/m*)
Z0 : (m)
% = 19.00 (kN/m*)
Zo (m) | ph(kN/m?)
5.000 31.67
5.200 32.93

(KN/m?)

FORUMS8



Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 98.80 (kN/m?)
ph = p Kh
Atz
=y - +C | Atz [
Py | -A+z |
A= (bu n) = 12.0000
D=-2 Kh tanp n = -1.2830
= 0.0 p = po C =-29.157
ph
(m z(m) (kN/m?)
0.200 0.000 32.93
0.300 0.100 33.21
0.700 0.500 34.26
1.200 1.000 35.44
1.700 1.500 36.46
2.200 2.000 37.32
2.700 2.500 38.01
3.200 3.000 38.52
3.700 3.500 38.85
4.200 4.000 38.98
4.700 4.500 38.92
5.200 5.000 38.66
5.700 5.500 38.17
6.200 6.000 37.45
6.700 6.500 36.49
6.900 6.700 36.03
7.200 7.000 35.27
€))
ph=Kh (qgd+Yo ya+Zo vy )
Kh : = 0.3333
qd : = 0.00 (kN/m?)
Yo : = 0.000 (m)
ya: = 22.50 (kN/m*)
Z0 : (m)
% = 19.00 (kN/m*)

FORUMS8




Zo (m) | ph(kN/m’)

5.000 31.67
5.200 32.93
Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 98.80 (kN/m?)
ph = p Kh
Atz
p=v- 14D +C | Atz [
= (bu n) = 12.0000
D=-2 Kh tanp n = -1.2830
z=0.0 p = po C =-29.157
ph
(m) z(m) (kN/n)
0.200 0.000 32.93
0.300 0.100 33.21
0.700 0.500 34.26
1.200 1.000 35.44
1.700 1.500 36.46
2.200 2.000 37.32
2.700 2.500 38.01
3.200 3.000 38.52
3.700 3.500 38.85
4.200 4.000 38.98
4.700 4.500 38.92
5.200 5.000 38.66
5.700 5.500 38.17
6.200 6.000 37.45
6.700 6.500 36.49
6.900 6.700 36.03
7.200 7.000 35.27

FORUMS8




v H X y M
(kN/m) (kN/m) @) @ (kN.m/m)
108.05 3.600 388.96
88.20 0.300 26.46
88.20 6.900 608.58
777.71 3.600 2799.75
6.46 7.099 45.86
260.82 3.457 901.79
-6.46 7.099 -45.86
-260.82 3.457 -901.79
1062.15 3823.75
€))
M
X=-— = 13600 (m
XV
B
e = - X = 0.000 (m)
@)
Me =XVx e-= 0.00 (KN.m/m)
SV 6 X Me
ql = T T 147. 52 (kN/m?)
SV 6 X Me
ar = = 147. 52 (kN/m?)
r — ql T
al’ =ql + =« — - 14752 (N/md)
B 2
1 - qr T
=g+ T o 14752 (N/m)
B 2
T :
gl : BOX
gr - BOX
qll -
qr’

FORUMS8




- 10 -

1.2.3 (case-1)
1
10. 00N/ m
MERIRRRRRRRRRA A RA AN —
[ |
| |
| |
| |
| |
| |
| |
| N
5.000 (m) 4.000 (m) gL= 10.000 (kN/m?)
@

wl = gL=10.00 (kN/m?)

@

FORUMS8



- 11 -

phi = pi Kh
 2+Kh-+pi-tane¢ *dz ,
pi— . = pi+l
bi
phi : zi (kN/m?)
pi zi (kN/m?)
dz (m)
Kh
N R N
Kh = tan® (45° - 7 ) = 0.3333
® =30.0 C )
bi : Zi (m)
bi =bu n zi
bu (m
n
dp = pi+l pi
(d_p) _ Do
dz A(l-2)
A= (u n
D=-2 Kh tang n
p=C }-A z}°
wl
C z =0.0 p=wl
1
wl = 10.00 (kN/m?)
BOX 0.200(m)
ph = Khx wl = 0.3333 x 10.00 = 3.33 (kN/m?)
Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 10.00 (kN/m?)
ph = p Kh
p=C {-A z3”
A= (bu n) = 12.0000
D=-2 Kh tang n = -1.2830
z =0.0 p=wl C= 0.412
ph
m z(m) (KN/m?)
0.200 0.000 3.33
0.300 0.100 3.30
0.700 0.500 3.16
1.200 1.000 2.98

FORUMS8



- 12 -

ph
m z(m) (KN/m?)
1.700 1.500 2.81
2.200 2.000 2.64
2.700 2.500 2.47
3.200 3.000 2.30
3.700 3.500 2.14
4.200 4.000 1.98
4.700 4.500 1.82
5.200 5.000 1.67
5.700 5.500 1.52
6.200 6.000 1.37
6.700 6.500 1.23
6.900 6.700 1.17
7.200 7.000 1.08
2)
wl = 10.00 (kN/m?)
BOX 0.200(m)
ph = Khx wl = 0.3333 x 10.00 = 3.33 (kN/m?)
Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 10.00 (kN/m?)
ph = p Kh
p=C i-A z}7
A= (bu n) = 12.0000
D=-2 Kh tanp n = -1.2830
z=0.0 p=wl C= 0.412
ph
(m) z(m) (kN/m?)
0.200 0.000 3.33
0.300 0.100 3.30
0.700 0.500 3.16
1.200 1.000 2.98
1.700 1.500 2.81
2.200 2.000 2.64
2.700 2.500 2.47
3.200 3.000 2.30
3.700 3.500 2.14

FORUMS8




- 13 -

ph
m z(m) (KN/m?)
4.200 4.000 1.98
4.700 4.500 1.82
5.200 5.000 1.67
5.700 5.500 1.52
6.200 6.000 1.37
6.700 6.500 1.23
6.900 6.700 1.17
7.200 7.000 1.08
v H X y M
(kN/m) (kN/m) @ @ (kN .m/m)
72.00 3.600 259.20
0.67 7.100 4.73
15.15 4.108 62.22
-0.67 7.100 -4.73
-15.15 4.108 -62.22
72.00 259.20
@
M
X=——>= 3.600 (m
pARY
B
e = E; -X= 0.000 (w
@
Me =%XVx ex= 0.00 (KN.m/m)
Y 6 X Me
ql = + . X 0.800 = 8.00 (kN/m%
B B
V6 X Me )
qr = - . X 0.800 = 8.00 (kN/m%
B B
- ql T
al’ =ql + -« = 800 /)
B 2
1 - qr T
ar’ =aqr + —8 x == 800 (kN/m)
B 2
T
gl : BOX
gr : BOX
ql’
qr’

FORUMS8



- 14 -

1.2.4

D

(case-2)
2
10. 00kN/ ni
m )
(UL - A
(]
S
Lo
| ——— !
| |
| |
| i
| |
| |
| i
Il
phi = pi Kh
 2+Khepi-tan¢ -dz ,
pi— ; = pi+l
bi
phi : Zi (kN/m?)
pi Zi
dz : (m)
Kh :
b e (AR ¢\ _
Kh = tan® (45° - 7 ) = 0.3333
® =30.0 C )
bi : Zi (m)
bi =bu n zi
bu (m
n
dp = pi+l pi
(d_p) _bp
dz A(l-2)
A= ((bu n
D=-2 Kh tang n
p=C }-A z}®
wl
C z =0.0 p=wl

wl = 10.00 (kN/m*)

(KN/m?)

FORUMS8




- 15 -

BOX 0.200(m)
ph = Khx wl = 0.3333 x 10.00 = 3.33 (kN/m?)

Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 10.00 (kN/m?)
ph = p Kh
p=C i-A Z}”
A= (u n) = 12.0000
D=-2 Kh tanp n = -1.2830
z=0.0 p=wl C= 0.412
ph
m z(m) (kN/m?)
0.200 0.000 3.33
0.300 0.100 3.30
0.700 0.500 3.16
1.200 1.000 2.98
1.700 1.500 2.81
2.200 2.000 2.64
2.700 2.500 2.47
3.200 3.000 2.30
3.700 3.500 2.14
4.200 4.000 1.98
4.700 4.500 1.82
5.200 5.000 1.67
5.700 5.500 1.52
6.200 6.000 1.37
6.700 6.500 1.23
6.900 6.700 1.17
7.200 7.000 1.08
wl = 10.00 (KN/m?)
BOX 0.200(m)

ph = Khx wl = 0.3333 x 10.00 = 3.33 (kN/m?)

FORUMS8




- 16 -

Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 10.00 (kN/m?)
ph = p Kh
p=C i-A z}7
A= (bu n) = 12.0000
D=-2 Kh tanp n = -1.2830
z=0.0 p=wl C= 0.412
ph
(m) z(m) (KN/m?)
0.200 0.000 3.33
0.300 0.100 3.30
0.700 0.500 3.16
1.200 1.000 2.98
1.700 1.500 2.81
2.200 2.000 2.64
2.700 2.500 2.47
3.200 3.000 2.30
3.700 3.500 2.14
4.200 4.000 1.98
4.700 4.500 1.82
5.200 5.000 1.67
5.700 5.500 1.52
6.200 6.000 1.37
6.700 6.500 1.23
6.900 6.700 1.17
7.200 7.000 1.08
H y M
(KN/m) @ (KN.m/m)
0.67 7.100 4.73
15.15 4.108 62.22
-0.67 7.100 -4.73
-15.15 4.108 -62.22
0.00

FORUMS8




- 17 -

@
ql

qr

6 X Me

X 0.800

j]

]

0.00 (kN/m")

0.00 (kN/m")

.00 (kN/m?)

.00 (kN/m?)

FORUMS8
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1.3

No

FORUMS8
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1.4
1.4.1

1.4.2

12 3 45
6 9
7 10
8 11
1213 14 1516

No X(m) Y(m)

1 0.000 6.600

2 0.300 6.600

3 3.300 6.600

4 6.300 6.600

6.600 6.600

6 0.000 6.300

7 0.000 3.300

8 0.000 0.300

9 6.600 6.300

10 6.600 3.300

11 6.600 0.300

12 0.000 0.000

13 0.300 0.000

14 3.300 0.000

15 6.300 0.000

16 6.600 0.000

FORUMS8




- 20 -

1.4.3

1.4.4

1.4.5

A=1.0x
I =1.0 x /12
No A(m") I(m")
1 1 2
2 2 3 0.6000 0.0180
3 3 4 0.6000 0.0180
4 4 5
5 1 6
6 6 7 0.6000 0.0180
7 7 8 0.6000 0.0180
8 8 12
9 5 9
10 9 10 0.6000 0.0180
11 10 11 0.6000 0.0180
12 11 16
13 12 13
14 13 14 0.6000 0.0180
15 14 15 0.6000 0.0180
16 15 16
E =2.80 x 10" (kN/m?)
=1.00 x 10° (1/ )
@ 1
(kN/m) (kN/m) | (kN.m/rad)
12 -1 -1 0
14 0 0 0
16 0 -1 0
) -1 , 0:
) 2
(kN/m) (kN/m) | (kN.m/rad)
12 0 -1 0
14 0 0 0
16 -1 -1 0
) -1 , 0:

FORUMS8
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®
CASE CASE
1 -1 1
2| -1 -1 1
3| -1 -2 1

FORUMS8
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- 25 -

1.6
1.6.1
M kN.m -89.3 394.5 -89.3
N kN 119.4 119.4 119.4
b cm 100.00 100.00 100.00
h cm 60.00 60.00 60.00
d cm 50.00 50.00 50.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 7.07 0.00 7.07
o’ 0.00 47.64 0.00
D22 @150 D— 0— D22 @150
cm’ D— @—— D— @— D— @——
25.807 —_— 25.807
D— @0— D32 @150 D— 0—
o’ D—@¢— | D—0— | D—O0—
E—— 52.947 E—
X cm 20.487 22.356 20.487
gc N/mm’ 2.56 8.80 2.56
s N/mm? 55.29 163.16 55.29
o ca N/mm’ 10.00 10.00 10.00
o sa N/mm’ 180.00 180.00 180.00
— 2 2 2
M kN.m -89.3 394.5 -89.3
N kN 119.4 119.4 119.4
Mu kN_m 460.4 872.8 460.4
Mc kN.m 145.2 145.2 145.2
1.7M kN.m 151.8 670.6 151.8
0.008 Al cm’ 0.95 0.95 0.95
As’ cm’ 25.81 52.95 25.81
As cm? 25.81 52.95 25.81
OK OK OK
2 2 2
0.008 Al

DMu Mc, 2)1.7M Mc, 3)As 5(cm?), 4)As
K

Mc

1.,2) 3).4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=200.00(N/mm*)
= 8.50(N/mm*)

FORUMS8




- 26 -

M kN.m -263.2 -142.9 -320.4
N kN 442 .4 477.4 521.7
b cm 100.00 100.00 100.00
h cm 60.00 60.00 60.00
d cm 50.00 50.00 50.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 20.57 3.40 26.18
o’ 3.37 1.11 3.27
D22 @150 D22 @300 D25 @150
cm’ D— @—— D— @—— D— @——
25.807 12.903 33.780
D13 @300 D13 @300 D13 @300
cn’ D— @0—— D— 00— D— 0——
4.223 4.223 4.223
X cm 21.508 24.353 23.321
oc N/mm? 7.42 4.54 8.38
gs N/mm’ 147.36 71.75 143.80
o ca N/mm’ 10.00 10.00 10.00
o sa N/mm’ 180.00 180.00 180.00
E— 2 2 2
M kN.m -263.2 -142.9 -320.4
N kN 442 .4 477.4 521.7
Mu kN._m 547.5 357.4 683.6
Mc kN.m 177.5 181.0 185.4
1.7M kN.m 447 .4 243.0 5447
0.008 Al cm’ 3.50 3.78 4.13
As’ cm? 30.03 17.13 38.00
As cm’ 25.81 12.90 33.78
E— OK OK OK
E— 2 2 2
0.008 Al

DMu  Mc, 2)1.7M Mc, 3)As 5(cm’), 4)As’
K

Mc

1),2) 3),4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=200.00(N/mm*)
= 8.50(N/mm*)

FORUMS8



- 27 -

M kN.m -263.2 -142.9 -320.4
N kN 442 .4 477.4 521.7
b cm 100.00 100.00 100.00
h cm 60.00 60.00 60.00
d cm 50.00 50.00 50.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 20.57 3.40 26.18
o’ 3.37 1.11 3.27
D22 @150 D22 @300 D25 @150
cm’ D— @—— D— @—— D— @——
25.807 12.903 33.780
D13 @300 D13 @300 D13 @300
cn’ D— @0—— D— 00— D— 0——
4.223 4.223 4.223
X cm 21.508 24.353 23.321
oc N/mm? 7.42 4.54 8.38
gs N/mm’ 147.36 71.75 143.80
o ca N/mm’ 10.00 10.00 10.00
o sa N/mm’ 180.00 180.00 180.00
E— 2 2 2
M kN.m -263.2 -142.9 -320.4
N kN 442 .4 477.4 521.7
Mu kN._m 547.5 357.4 683.6
Mc kN.m 177.5 181.0 185.4
1.7M kN.m 447 .4 243.0 5447
0.008 Al cm’ 3.50 3.78 4.13
As’ cm? 30.03 17.13 38.00
As cm’ 25.81 12.90 33.78
E— OK OK OK
E— 2 2 2
0.008 Al

DMu  Mc, 2)1.7M Mc, 3)As 5(cm’), 4)As’
K

Mc

1),2) 3),4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=200.00(N/mm*)
= 8.50(N/mm*)

FORUMS8



- 28 -

M kN.m -118.8 448.1 -118.8
N kN 141.9 141.9 141.9
b cm 100.00 100.00 100.00
h cm 60.00 60.00 60.00
d cm 50.00 50.00 50.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 10.15 0.00 10.15
o’ 0.00 54 .46 0.00
D25 @150 D— 0— D25 @150
cm’ D— @—— D— @— D— @——
33.780 —_— 33.780
D— @0— D35 @150 D— 0—
cn’ D— @0—— D— 00— D— 0——
E— 63.773 E—
X cm 21.969 23.894 21.969
oc N/mm? 3.14 9.49 3.14
gs N/mm’ 60.10 155.47 60.10
o ca N/mm’ 10.00 10.00 10.00
o sa N/mm’ 180.00 180.00 180.00
_— — 2 2 2
M kN.m -118.8 448.1 -118.8
N kN 141.9 141.9 141.9
Mu kN._m 590.8 1032.1 590.8
Mc kN.m 147.4 147.4 147.4
1.7 kN.m 202.0 761.7 202.0
0.008 Al cm’ 1.12 1.12 1.12
As’ cm? 33.78 63.77 33.78
As cm’ 33.78 63.77 33.78
E— OK OK OK
E— 2 2 2
0.008 Al

DMu  Mc, 2)1.7M Mc, 3)As 5(cm’), 4)As’
K

Mc

1),2) 3),4)
Mu ,
Al N (0.0080 sa o ca)
o sa
o ca

0

=200.00(N/mm*)
= 8.50(N/mm*)

FORUMS8




- 29 -

M kN.m -328.2 -328.2 -398.8 -398.8
N kN 397.2 397.2 469.3 469.3
b cm 100.00 100.00 100.00 100.00
h cm 78.94 78.94 78.94 78.94
d cm 68.94 68.94 68.94 68.94
d1 cm 0.00 0.00 0.00 0.00
d2 cm 10.00 10.00 10.00 10.00
cm’ 18.41 18.41 23.26 23.26
cm’ 0.00 0.00 0.00 0.00
D22 @150 D22 @150 D25 @150 D25 @150
cnt D—@—— | D— @ D— 0@ D— @——
25.807 25.807 33.780 33.780
D—@— | D—@ D— @ D— @—
cm’ D—@—— | D— @ D— @ D— @—
X cm 26.585 26.585 28.984 28.984
gc N/mm? 5.57 5.57 6.25 6.25
gs N/mm’ 133.23 133.23 129.27 129.27
o ca N/mm? 10.00 10.00 10.00 10.00
o sa N/mm? 180.00 180.00 180.00 180.00
—_— | — 2 2 2 2
M kN.m -328.2 -328.2 -398.8 -398.8
N kN 397.2 397.2 469.3 469.3
Mu kN._m 737.2 737.2 934.8 934.8
Mc kN.m 282.9 282.9 292.4 292.4
1.7M kN_m 557.9 557.9 677.9 677.9
0.008 A1" cm? 3.15 3.15 3.72 3.72
As’ cm? 25.81 25.81 33.78 33.78
As cm’ 25.81 25.81 33.78 33.78
— _— 0K 0K 0K 0K
— —_— 2 2 2 2
DMu Mc, 2)1.7M Mc, 3)As 5(cm?), 4)As’  0.008 Al’
1),2) ),4) 0K
Mu ,
Al N (0.0080 sa o ca)
o sa =200.00(N/mm?)
o ca = 8.50(N/mm*)
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1.6.2

S
Tm = b X d Ta
b = 100.0 (cm)
S d Tm T a L
(kN) (cm) (N/mm?) (N/mn?* ) (m
T 338.4 | 50.00 0.677 0.514 2 0.750
1 -338.4 | 50.00 0.677 0.514 2 0.750
T -91.4 | 50.00 0.183 0.458 2 0.750
T 114.3 | 50.00 0.229 0.491 3 0.750
1 91.4 | 50.00 0.183 0.458 2 0.750
T -114.3 | 50.00 0.229 0.491 3 0.750
T -396.6 | 50.00 0.793 0.523 2 0.750
1 396.6 | 50.00 0.793 0.523 2 0.750
T
L
M N Ac Ic y Mo oN
(kN.m) (kN) (m) (m) (m) (kN.m)
T -37.0 119.4 0.600 0.0180 0.300 11. 1.32
T -37.0 119.4 0.600 0.0180 0.300 11. 1.32
T -249.0 444 .6 0.600 0.0180 0.300 44. 1.18
T -287.6 486.5 0.600 0.0180 0.300 48. 1.17
T -249.0 444 .6 0.600 0.0180 0.300 44 1.18
T -287.6 486.5 0.600 0.0180 0.300 48. 1.17
T -57.6 141.9 0.600 0.0180 0.300 14. 1.25
T -57.6 141.9 0.600 0.0180 0.300 14. 1.25
(gm) Ce (pt) Cpt
1 50.00 1.286 0.52 1.210
T 50.00 1.286 0.52 1.210
T 50.00 1.286 0.52 1.210
T 50.00 1.286 0.68 1.305
T 50.00 1.286 0.52 1.210
T 50.00 1.286 0.68 1.305
T 50.00 1.286 0.68 1.305
T 50.00 1.286 0.68 1.305
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Ce X Cpt X CN X rtal

ta @ FEEEAWICTIE

Ce @ M WrE DA EAIZBT 2 HIEREK

Cot @ BISRFTERAN ptIZ B3 2 M EFREL

cal @ Ly U — NOBRTEAN ERILT 558 OTFEE ARSI
CN @ BA WM IS L D RIERREL

Mo
C(N=1+— = 2.0
M

Mo @ HAHAEMINCL D 227 ) — NOISTIENTHMTIERCTE L2 LT E—A 2 K
N Ic

ey

Mo EMWTEICAER T ST E— A 2 B

N EMWTEICAE A T D A

Ie  EAAWTmE ORI 2 i —KE— A 2k

Ac 1 M MTIEIRE

vy ERATWTE ORI L0 B S iRk £ T o B

Mo =
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1.7
1 836 1 836
509 509
s \
N N
@] @]
© ©
N 8}
<t Ak
o o
b~ b~
N N
/ - S
98
1 929
1.7.1
mm | D22 D22 D22 D25 D22 D25 D25 D25
mm | @300 @300 @300 @300 @300 @300 @300 @300
mm | (D22 ) | (D22 ) | (D22 ) | (D25 ) | (D22 ) | (D25 ) | (D25 ) | (D25 )
(1) Lm cm 47.6 47.6 124.2 125.4 124.2 125.4 47.9 47.9
@d cm 50.0 50.0 50.0 50.0 50.0 50.0 50.0 50.0
(3) Lap cm 66.0 66.0 66.0 75.0 66.0 75.0 75.0 75.0
cm| 163.6 163.6 240.2 250.4 | 240.2 250.4 172.9 172.9
Lr cm| 20.00 | 20.00 20.00 20.00 | 20.00 20.00 20.00 | 20.00
Le cm| 183.6 | 183.6 | 260.2 | 270.4 | 260.2 | 270.4 | 192.9 | 192.9
Lm
d
Lap 0
M+@+(3)
Lr
Le
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1.7.2

mm | D32 D32 D35 D35
mm | @300 @300 @300 @300
mm | (D32 ) | (D32 ) | (D35 ) | (D35 )
(1) Lm cm| 176.9 | 176.9 | 184.8| 184.8
@d cm 50.0 50.0 50.0 50.0
) Lap cm| 96.0| 96.0| 105.0| 105.0
cm 30.9 30.9 29.8 29.8
Lr cm| 20.00 | 20.00 | 20.00| 20.00
Le cm 50.9 50.9 49.8 49.8
Lm
d
Lap 0
D-@-G)
Lr
Le
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1.7.3

(m) (Mﬂm (MI@ (Mﬂm (mlm

0.300 ~135.0 ~202.7 236.5 -186.8
0.458 ~135.0 ~141.5 236.5 -130.2
0.600 ~135.0 -89.3 236.5 -81.9
0.616 ~135.0 -83.6 236.5 -76.7
0.750 -134.8 -38.1 236.5 -33.6
0.774 -134.8 -30.7 236.5 -26.2
0.932 -134.8 16.7 238.6 22.3
1.089 ~134.8 61.0 238.6 70.2
1.247 -134.8 102.3 238.6 114.9
1.405 -134.8 140.6 238.6 156.3
1.563 -134.8 175.8 238.6 194.3
1.721 -134.8 207.9 238.6 229.0
1.879 ~134.8 237.0 238.6 260.5
2.037 -134.8 263.0 238.6 288.6
2.195 -134.8 285.9 238.6 313.4
2.353 -134.8 305.8 238.6 334.9
2.511 -134.8 322.6 238.6 353.1
2.668 -134.8 336.4 238.6 368.0
2.826 -134.8 347.1 238.6 379.6
2.984 -134.8 354.7 238.6 387.9
3.142 -134.8 359.3 238.6 392.8
3.300 -134.8 360.9 238.6 394.5
3.300 -134.8 360.9 238.6 394.5
3.458 -134.8 359.3 238.6 392.8
3.616 -134.8 354.7 238.6 387.9
3.774 -134.8 347.1 238.6 379.6
3.932 -134.8 336.4 238.6 368.0
4.089 -134.8 322.6 238.6 353.1
4.247 -134.8 305.8 238.6 334.9
4.405 -134.8 285.9 238.6 313.4
4.563 -134.8 263.0 238.6 288.6
4.721 -134.8 237.0 238.6 260.5
4.879 -134.8 207.9 238.6 229.0
5.037 -134.8 175.8 238.6 194.3
5.195 -134.8 140.6 238.6 156.3
5.353 -134.8 102.3 238.6 114.9
5.511 -134.8 61.0 238.6 70.2
5.668 -134.8 16.7 238.6 22.3
5.826 -134.8 -30.7 236.5 -26.2
5.850 -134.8 -38.1 236.5 -33.6
5.984 ~135.0 -83.6 236.5 -76.7
6.000 ~135.0 -89.3 236.5 -81.9
6.142 ~135.0 ~141.5 236.5 -130.2
6.300 ~135.0 -202.7 236.5 -186.8
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(m) (Mﬁm (Mrm (Mﬁm (mrm

0.300 ~205.7 ~294.0 117.1 -271.3
0.458 ~206.2 277.3 117.6 -256.0
0.600 ~206.7 ~263.2 118.0 -242.9
0.616 ~206.7 ~261.6 118.1 -241.4
0.750 -207.2 ~249.0 118.5 -228.9
0.774 -207.2 ~246.9 118.6 -226.8
0.932 -207.7 ~233.1 119.1 -213.1
1.089 ~208.2 -220.2 119.7 -200.4
1.247 ~208.7 ~208.3 120.2 -188.7
1.405 ~209.2 -197.4 120.7 -177.9
1.563 ~209.7 -187.5 121.2 -168.1
1.721 -210.2 ~178.5 121.8 -159.3
1.879 -210.7 -170.6 122.3 -151.5
2.037 ~211.2 ~163.6 122.8 -144.7
2.195 211.7 ~157.6 123.3 -138.8
2.353 ~212.2 ~152.7 123.8 -134.0
2.511 212.7 -148.7 124.4 -130.2
2.668 -213.2 -145.8 124.9 -127.4
2.826 ~213.6 ~143.8 125.4 -125.7
2.984 214.1 ~142.9 125.9 -124.9
3.142 ~214.6 ~143.0 126.4 -125.1
3.300 ~215.1 ~144.2 126.9 -126.4
3.300 ~244.6 ~144.2 126.9 -126.4
3.458 ~245.1 ~146.3 127.5 -128.7
3.616 ~245.5 ~149.5 128.0 -132.0
3.774 ~246.0 ~153.7 128.5 -136.4
3.932 ~246.5 ~158.9 129.0 -141.7
4.089 ~247.0 -165.1 129.5 -148.1
4.247 ~247.5 -172.4 130.0 -155.5
4.405 ~248.0 ~180.6 130.6 -163.9
4.563 ~248.4 ~189.9 131.1 -173.3
4.721 ~248.9 -200.2 131.6 -183.8
4.879 ~249.4 211.5 132.1 -195.2
5.037 ~249.9 ~223.8 132.6 -207.7
5.195 ~250.4 ~237.1 133.1 -221.2
5.353 ~250.9 ~251.5 133.6 -235.6
5.511 ~251.3 -266.7 134.2 -251.1
5.668 ~251.8 ~283.0 134.7 -267.5
5.826 ~252.3 ~300.3 135.2 -284.9
5.850 ~252.4 ~303.0 135.3 -287.6
5.984 ~252.8 -318.5 135.7 -302.6
6.000 ~252.8 -320.4 135.8 -304.4
6.142 -253.3 -337.7 136.2 -321.1
6.300 ~253.7 ~357.9 136.7 -340.6
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(m) (Mﬁm (Mrm (Mﬁm (mrm

0.300 ~205.7 ~294.0 117.1 -271.3
0.458 ~206.2 277.3 117.6 -256.0
0.600 ~206.7 ~263.2 118.0 -242.9
0.616 ~206.7 ~261.6 118.1 -241.4
0.750 -207.2 ~249.0 118.5 -228.9
0.774 -207.2 ~246.9 118.6 -226.8
0.932 -207.7 ~233.1 119.1 -213.1
1.089 ~208.2 -220.2 119.7 -200.4
1.247 ~208.7 ~208.3 120.2 -188.7
1.405 ~209.2 -197.4 120.7 -177.9
1.563 ~209.7 -187.5 121.2 -168.1
1.721 -210.2 ~178.5 121.8 -159.3
1.879 -210.7 -170.6 122.3 -151.5
2.037 ~211.2 ~163.6 122.8 -144.7
2.195 211.7 ~157.6 123.3 -138.8
2.353 ~212.2 ~152.7 123.8 -134.0
2.511 212.7 -148.7 124.4 -130.2
2.668 -213.2 -145.8 124.9 -127.4
2.826 ~213.6 ~143.8 125.4 -125.7
2.984 214.1 ~142.9 125.9 -124.9
3.142 ~214.6 ~143.0 126.4 -125.1
3.300 ~215.1 ~144.2 126.9 -126.4
3.300 ~244.6 ~144.2 126.9 -126.4
3.458 ~245.1 ~146.3 127.5 -128.7
3.616 ~245.5 ~149.5 128.0 -132.0
3.774 ~246.0 ~153.7 128.5 -136.4
3.932 ~246.5 ~158.9 129.0 -141.7
4.089 ~247.0 -165.1 129.5 -148.1
4.247 ~247.5 -172.4 130.0 -155.5
4.405 ~248.0 ~180.6 130.6 -163.9
4.563 ~248.4 ~189.9 131.1 -173.3
4.721 ~248.9 -200.2 131.6 -183.8
4.879 ~249.4 211.5 132.1 -195.2
5.037 ~249.9 ~223.8 132.6 -207.7
5.195 ~250.4 ~237.1 133.1 -221.2
5.353 ~250.9 ~251.5 133.6 -235.6
5.511 ~251.3 -266.7 134.2 -251.1
5.668 ~251.8 ~283.0 134.7 -267.5
5.826 ~252.3 ~300.3 135.2 -284.9
5.850 ~252.4 ~303.0 135.3 -287.6
5.984 ~252.8 -318.5 135.7 -302.6
6.000 ~252.8 -320.4 135.8 -304.4
6.142 -253.3 -337.7 136.2 -321.1
6.300 ~253.7 ~357.9 136.7 -340.6
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(m) (Mﬁm (Mrm (Mﬁm (mrm

0.300 ~170.9 ~251.8 282.7 -240.6
0.458 ~170.9 ~180.1 282.7 -172.5
0.600 ~170.9 -118.8 282.7 -114.4
0.616 171.1 ~112.3 282.7 -108.2
0.750 171.1 -60.5 282.7 -56.4
0.774 171.1 -51.6 282.7 -47.5
0.932 171.1 5.4 283.8 11.9
1.089 -171.1 58.7 283.8 68.1
1.247 171.1 108.4 283.8 120.4
1.405 171.1 154.4 283.8 168.9
1.563 171.1 196.7 283.8 213.5
1.721 171.1 235.3 283.8 254.2
1.879 -171.1 270.2 283.8 291.0
2.037 171.1 301.5 283.8 324.0
2.195 171.1 329.1 283.8 353.1
2.353 171.1 353.0 283.8 378.3
2.511 171.1 373.2 283.8 399.6
2.668 -171.1 389.7 283.8 417.0
2.826 171.1 402.6 283.8 430.6
2.984 171.1 411.8 283.8 440.3
3.142 171.1 417.3 283.8 446.1
3.300 171.1 419.2 283.8 448.1
3.300 -171.1 419.2 283.8 448.1
3.458 171.1 417.3 283.8 446.1
3.616 171.1 411.8 283.8 440.3
3.774 171.1 402.6 283.8 430.6
3.932 171.1 389.7 283.8 417.0
4.089 -171.1 373.2 283.8 399.6
4.247 171.1 353.0 283.8 378.3
4.405 171.1 329.1 283.8 353.1
4.563 171.1 301.5 283.8 324.0
4.721 171.1 270.2 283.8 291.0
4.879 -171.1 235.3 283.8 254.2
5.037 171.1 196.7 283.8 213.5
5.195 171.1 154.4 283.8 168.9
5.353 171.1 108.4 283.8 120.4
5.511 171.1 58.7 283.8 68.1
5.668 -171.1 5.4 283.8 11.9
5.826 171.1 -51.6 282.7 -47.5
5.850 171.1 -60.5 282.7 -56.4
5.984 171.1 ~112.3 282.7 -108.2
6.000 ~170.9 -118.8 282.7 -114.4
6.142 ~170.9 -180.1 282.7 -172.5
6.300 ~170.9 ~251.8 282.7 -240.6
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1.8

Sc

Aw

=tax bxd
Ta (N/mm?)
b : = 1000 (mm)
d : (mm)
Sc )
h=S-Sc
S h: Q)
S : )
_1.16 X " h X a
gsa X d X 10
Aw : (cm?)
a (cm)
o sa (N/mm?)
(cm?)
Sc S*h T Ta
(kN (N (N/mm?) (/) (cm)
12.5 | 15.0 | 25.0 | 30.0
T 257.1 81.3 0.677 0.514 1.30 1.56 2.60 3.12
T 257.1 81.3 0.677 0.514 1.30 | 1.56| 2.60| 3.12
T — — 0.183 0.458 0.00| 0.00| 0.00| 0.00
T —_— —_— 0.229 0.491 0.00 0.00 0.00 0.00
T — — 0.183 0.458 0.00| 0.00| 0.00| 0.00
T —_— —_— 0.229 0.491 0.00 0.00 0.00 0.00
T 261.5 135.1 0.793 0.523 2.16 2.59 4.32 5.18
T 261.5 135.1 0.793 0.523 2.16 | 2.59 | 4.32| 5.18
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1.9
1.9.1

vV X M
(KN/m) | (m) (kN.m/m)
7.200 x 0.600 24.50 105.84 | 3.600 381.02
6.000 x 0.600 x 24.50 88.20 | 0.300 26.46
6.000 x 0.600 x 24.50 88.20 | 6.900 608.58
7.200 x 0.600 24 .50 105.84 | 3.600 381.02
1/2 0.300 x 0.300 x 24.50 1.10 | 0.700 0.77
1/2 0.300 x 0.300 x 24.50 1.10 | 6.500 7.17
172 0.300 x 0.300 24.50 1.10 0.700 0.77
1/2 0.300 x 0.300 x 24.50 1.10 | 6.500 7.17
392.49 | —— 1412.96
€))
= 0.000 (kN/m?)
= 0.000 (kN/m?)
= 0.000 (kN/m?)
qd = 0.000 (kN/m?)
@
a
= 1.137 x  0.000 x 22.50 = 0.00 (kN/m?)
= 1.137 x  5.000 x 19.00 = 108.01 (kN/m?)
wd = 108.01 (kN/m?)
(©))
= ( 0.000 + 108.01 ) X 7.200 = 777.708 (kN/m)
7. 200
= = 3.600 (m)
= VXX = 2799.75 (kN.m/m)
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phi = pi Kh
2*Khepi-tan¢ *dz

pi+vy «dz— = pi+l

bi

phi : zi (kN/m?)

y - (kN/m*)
pi Zi

y - (kN/m*)
dz : (m)

Kh :

Qo = 30.0

bi : Zi (m)

bu
n
dp = pi+l pi
)
dz A(1-2)
(bu n
-2 Kh tang@ n

o >
In o

-A+z
1+D

p=v - +C| Atz [P

[ case-1 ]

a)

ph=Kh (qgd+Yo ya+Z0 y )
Kh :
qd :
Yo :
ya:
Z0 : BOX

(KN/m?)

0.3333
0.00 (kN/m?)
0.000 (m)

22.50 (kN/m?)
5.000 (m)
5.200 (m)

19.00 (KN/m?)
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BOX K i
Y1 v -1 ph2

BOX Kbt Ao FEE TOEE hi

phl

31.67 (kN/m")
32.93 (kN/m?)

0.200 (m)

A v FEPHBOXERE TOES h2 = 7.000 (m)

1
Hl = — « ( phl + ph2 ) *hl

=  6.46 (kN/m)

2
M1 = i% «(2+phl +ph2 ) +hl*+H+h2 = 45.86 (kN.m/m)
Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
= 0.3000
po = 98.80 (kN/m?*)
ph = p Kh
Atz
p=y - D +C| Atz [P
A= (bu n) = 12.0000
D=-2 Kh tang n = -1.2830
z=0.0 p = po C =-29.157
KEH M2 = % ( phi=1 + phi )+ ( zi - zi-1)
ET— AL b MZiZ%'(Z'phi—l+phi)'(zi—zi—1 Y+ H2i+ ( Ds— zi )
ph H2 M2
(m) z(m) (kN/m?) (kN/m) (KN.m/m)
0.200 0.000 32.93
0.300 0.100 33.21 3.31 22.99
0.700 0.500 34.26 13.50 90.40
1.200 1.000 35.44 17.43 108.89
1.700 1.500 36.46 17.98 103.34
2.200 2.000 37.32 18.45 96.82
2.700 2.500 38.01 18.83 89.43
3.200 3.000 38.52 19.13 81.29
3.700 3.500 38.85 19.34 72.52
4.200 4.000 38.98 19.46 63.23
4.700 4.500 38.92 19.48 53.56
5.200 5.000 38.66 19.39 43.64
5.700 5.500 38.17 19.21 33.62
6.200 6.000 37.45 18.90 23.65
6.700 6.500 36.49 18.48 13.88
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b)

ph H2 M2
©) z(m) (kN/m?) (kN/m) (kN.m/m)
6.900 6.700 36.03 7.25 2.90
7.200 7.000 35.27 10.69 1.61
260.82 901.79
= I (Hi) = 267.28 (kN/m)
= X (Mi) = 947.66 (kN.m/m)
ph=kKh (qgd+Yo ya+Z0 y )
Kh : = 0.3333
qd : = 0.00 (kN/m?)
Yo : = 0.000 (m)
ya: = 22.50 (kN/m®)
20 : BOX = 5.000 (m)
= 5.200 (m)
% = 19.00 (kN/m®)
BOX K ¥ phl = 31.67 (kN/m)
P kE ph2 = 32.93 (kN/m’)
BOXK#a/H A 1 FEECTOEmS hl = 0.200 (m)
YA e LEPLBONEEE TOES h2 = 7.000 (m)

1
Hl = — « ( phl + ph2 ) *hl

2

Ml = —
ph = p Kh

p=v

A =

D =
z=0.0

K77

T—A b M2i

-A+z
)
(bu n)
-2 Kh

H21

po = 98.80 (KN/m?)
+Ce|-A+z [°
= 12.0000

tanp n = -1.2830

p = po C =-29.157

1 . . . .
= E;' ( phi-1 + phi ) *+ ( zi - zi-1)

1 . . . . 2 .
= r « ( 2+phi-1 + phi )« (zi — zi-1 )" + H2i *

Ds
bu
bl

= -6.46 (kN/m)

7.000 (m)
3.600 (M)
1.500 (m)
0.3000

1
p « (2+phl + ph2 ) «hl* + H+*h2 = -45.86 (kN.m/m)

( Ds— zi )

FORUMS8




- 43 -

ph H2 M2
(m) z(m) (kN/m?) (KN/m) (kN.m/m)
0.200 0.000 32.93
0.300 0.100 33.21 -3.31 -22.99
0.700 0.500 34.26 -13.50 -90.40
1.200 1.000 35.44 -17.43 -108.89
1.700 1.500 36.46 -17.98 -103.34
2.200 2.000 37.32 -18.45 -96.82
2.700 2.500 38.01 -18.83 -89.43
3.200 3.000 38.52 -19.13 -81.29
3.700 3.500 38.85 -19.34 -72.52
4.200 4.000 38.98 -19.46 -63.23
4.700 4.500 38.92 -19.48 -53.56
5.200 5.000 38.66 -19.39 -43.64
5.700 5.500 38.17 -19.21 -33.62
6.200 6.000 37.45 -18.90 -23.65
6.700 6.500 36.49 -18.48 -13.88
6.900 6.700 36.03 -7.25 -2.90
7.200 7.000 35.27 -10.69 -1.61
-260.82 -901.79
= 2 (Hi) = -267.28 (kN/m)
=X (Mi) = -947.66 (KkN.m/m)
1) [ case-11]
= 0.000 (m)
(1) [ CASE-1 ]
1) [ case-1 ]
V H M
(kN/m) (kN/m) (KN.m/m)
392.49 S 1412 .96
777.71 — 2799.75
E— 267.28 947.66
S -267.28 -947.66
1170.20 0.00 4212.71

FORUMS8
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1.9.2
@) 1

1) TERIZAERT 2 8niE

10. 00 (kN/m")

w

v

o

10.00 X  7.20 = 72.00 (kN/m)

7. 200
X = ——— = 3.600 (m)
2
M=VXX= 25920 (kN.m/m)
2)
phi = pi Kh
. 2+Khepi-tane - dz ,
pi— ; = pi+l
bi
phi : zi (kN/m?)
pi Zi
dz (m)
Kh
Kh = tan® (45° - % ) = 0.3333
® =30.0 C )
bi zi (m)
bi =bu n zi
bu (m
n -
dp = pi+l pi
dpy  D-p
(dZ) A(1-2)
A= (u n
D=-2 Kh tang n
p=C !-A z}®
wl
C z=0.0 p = wl
a)
wl = 10.00 (kN/m?)

BOX 0.200(m)
ph = Khx wl = 0.3333 x 10.00 = 3.33 (kN/m?)
BOX h = 0.200 (m)
H1 = phx h =  0.67 (kN/m)

M1 = Hlx ( Ds h72 ) =  4.73 (kN.m/m)

(kN/m?)

FORUMS8
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b)

- zi)

Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 10.00 (kN/m?)
ph = p Kh
p=C I-A z}7
= (bu n) = 12.0000
= -2 Kh tangp n = -1.2830
z=0.0 p=wl C= 0.412
KEH M2 = % ( phi=1 + phi )+ ( zi = zi-1)
EB—A M M21 = i% « (2 +phi-1 + phi )+ (zi — zi-1 )" + H2i « ( Ds
ph H2 M2
m z(m) (kN/m?) (KN/m) (KN.m/m)
0.200 0.000 3.33
0.300 0.100 3.30 0.33 2.30
0.700 0.500 3.16 1.29 8.65
1.200 1.000 2.98 1.53 9.59
1.700 1.500 2.81 1.45 8.33
2.200 2.000 2.64 1.36 7.15
2.700 2.500 2.47 1.28 6.07
3.200 3.000 2.30 1.19 5.08
3.700 3.500 2.14 1.11 4.17
4.200 4.000 1.98 1.03 3.35
4.700 4.500 1.82 0.95 2.62
5.200 5.000 1.67 0.87 1.97
5.700 5.500 1.52 0.80 1.40
6.200 6.000 1.37 0.72 0.91
6.700 6.500 1.23 0.65 0.49
6.900 6.700 1.17 0.24 0.10
7.200 7.000 1.08 0.34 0.05
15.15 62.22
wl = 10.00 (kN/m?)
BOX 0.200(m)

ph = Khx wl = 0.3333 x 10.00 =

BOX
H1 = phx h
ML = Hlx (

Ds

~0.67 (kN/m)

h/2) =

3.33 (kN/m?)

h = 0.200 (m)

-4.73 (kN.m/m)

FORUMS8
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3)

Ds
bu
bl

= 0.3000

7.000 (m)
3.600 (m)
1.500 (m)

- zi)

po = 10.00 (kN/m?)
ph = p Kh
p=C I-A z}7
= (bu n) = 12.0000
=-2 Kh tanp n = -1.2830
z =0.0 p=wl C = 0.412
KF-F H2i = % ( phi-1 + phi )+ ( zi - zi-1)
EB—A M M21 = i% « (2 +phi-1 + phi )+ (zi — zi-1 )" + H2i « ( Ds
ph H2 M2
m z(m) (kN/m?) (KN/m) (KN.m/m)
0.200 0.000 3.33
0.300 0.100 3.30 -0.33 -2.30
0.700 0.500 3.16 -1.29 -8.65
1.200 1.000 2.98 -1.53 -9.59
1.700 1.500 2.81 -1.45 -8.33
2.200 2.000 2.64 -1.36 -7.15
2.700 2.500 2.47 -1.28 -6.07
3.200 3.000 2.30 -1.19 -5.08
3.700 3.500 2.14 -1.11 -4.17
4.200 4.000 1.98 -1.03 -3.35
4.700 4.500 1.82 -0.95 -2.62
5.200 5.000 1.67 -0.87 -1.97
5.700 5.500 1.52 -0.80 -1.40
6.200 6.000 1.37 -0.72 -0.91
6.700 6.500 1.23 -0.65 -0.49
6.900 6.700 1.17 -0.24 -0.10
7.200 7.000 1.08 -0.34 -0.05
-15.15 -62.22
v H M
(KN/m) (KN/m) (kN.m/m)
72.00 — 259.20
— 0.00 0.00
72.00 0.00 259.20

FORUMS8
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@

D

a)

[2]
phi = pi Kh
 2+Khepi-tan¢ - dz .
pi— ; = pi+l
bi
phi : zi (kN/m?)
pi : Zi
dz : (m)
Kh
R N
Kh = tan® (45° - 7 ) = 0.3333
¢ =30.0 ( )
bi : Zi (m)
bi =bu n zi
bu : (m)
n :
dp = pi+l pi
o) = 2
dz A(l-2)
A= (bu n
D=-2 Kh tang n
p=C }-A z}°
wl
C z=0.0 p=wl
wl = 10.00 (kN/m?)
BOX 0.200(m)
ph = Khx wl = 0.3333 x 10.00 = 3.33 (kN/m?)
BOX h = 0.200 (m)

H1 = phx h = 0.67 (kN/m)
M1 = Hlx ( Ds h/72 ) = 4.73 (kN.m/m)

(kN/m?)

FORUMS8
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b)

- zi)

Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 10.00 (kN/m?)
ph = p Kh
p=C I-A z}7
= (bu n) = 12.0000
= -2 Kh tangp n = -1.2830
z=0.0 p=wl C= 0.412
KEH M2 = % ( phi=1 + phi )+ ( zi = zi-1)
EB—A M M21 = i% « (2 +phi-1 + phi )+ (zi — zi-1 )" + H2i « ( Ds
ph H2 M2
m z(m) (kN/m?) (KN/m) (KN.m/m)
0.200 0.000 3.33
0.300 0.100 3.30 0.33 2.30
0.700 0.500 3.16 1.29 8.65
1.200 1.000 2.98 1.53 9.59
1.700 1.500 2.81 1.45 8.33
2.200 2.000 2.64 1.36 7.15
2.700 2.500 2.47 1.28 6.07
3.200 3.000 2.30 1.19 5.08
3.700 3.500 2.14 1.11 4.17
4.200 4.000 1.98 1.03 3.35
4.700 4.500 1.82 0.95 2.62
5.200 5.000 1.67 0.87 1.97
5.700 5.500 1.52 0.80 1.40
6.200 6.000 1.37 0.72 0.91
6.700 6.500 1.23 0.65 0.49
6.900 6.700 1.17 0.24 0.10
7.200 7.000 1.08 0.34 0.05
15.15 62.22
wl = 10.00 (kN/m?)
BOX 0.200(m)

ph = Khx wl = 0.3333 x 10.00 =

BOX
H1 = phx h
ML = Hlx (

Ds

~0.67 (kN/m)

h/2) =

3.33 (kN/m?)

h = 0.200 (m)

-4.73 (kN.m/m)

FORUMS8
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- zi)

Ds = 7.000 (m)
bu = 3.600 (m)
bl = 1.500 (m)
n = 0.3000
po = 10.00 (kN/m?)
ph = p Kh
p=C -A z°
= (bu n) = 12.0000
=-2 Kh tanp n = -1.2830
z=0.0 p=wl C= 0.412
1
KF-F H2i = 5 ( phi-1 + phi ) « (zi - zi-1)
o1 : : : : 2 :
T— A b M2 = r + ( 2+phi-1 + phi ) « (zi - zi-1 )" + H2i - ( Ds
ph H2 M2
m z(m) (kN/m?) (KN/m) (KN.m/m)
0.200 0.000 3.33
0.300 0.100 3.30 -0.33 -2.30
0.700 0.500 3.16 -1.29 -8.65
1.200 1.000 2.98 -1.53 -9.59
1.700 1.500 2.81 -1.45 -8.33
2.200 2.000 2.64 -1.36 -7.15
2.700 2.500 2.47 -1.28 -6.07
3.200 3.000 2.30 -1.19 -5.08
3.700 3.500 2.14 -1.11 -4.17
4.200 4.000 1.98 -1.03 -3.35
4.700 4.500 1.82 -0.95 -2.62
5.200 5.000 1.67 -0.87 -1.97
5.700 5.500 1.52 -0.80 -1.40
6.200 6.000 1.37 -0.72 -0.91
6.700 6.500 1.23 -0.65 -0.49
6.900 6.700 1.17 -0.24 -0.10
7.200 7.000 1.08 -0.34 -0.05
-15.15 -62.22
1.9.3
(@) @
v H M
(kN/m) (kN/m) (kN.m/m)
[ case-1 ] 1170.20 0.00 4212.71
1170.20 0.00 4212.71

FORUMS8
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1.9.4

X=——= 3.600
SV (m)
B
eZE—XZ 0.000 (m)
Me =XV x ex= 0.00 (KN.m/m)
Y 6 X M ,
q = B 5 c = 162.53 (kN/m") = ga=300.0 (kN/m") OK
= 162.53 (kN/m)
-1 -1
v H M
(KN/m) (kN/m) (KN.m/m)
[ case-1 ] 1170.20 0.00 4212.71
[1] 72.00 0.00 259.20
1242.20 0.00 4471.91
« B OVERNCE T & OMR OB
=M
X=——7= 3.600 (m)
zV
B
e=E—X= 0. 000 (m)
Me =XV x e= 0.00 (kN.m/m)
A B 7 B
Y 6 X M
q = B + e ° =  172.53 (kN/m) = qa=300.0 (kN/m’) OK
= 172.53 (kN/m?)
ga = 300.0 (kN/m%)
(kN/m?)
No
vV (kN) H (kN) M(KN.m) e (m gmax gmin
1 ()] 1170.2 0.0 0.0 0.000 | 162.528 | 162.527 | OK
2 -1 -1 1242.2 0.0 0.0 0.000 | 172.528 | 172.528 | OK

FORUMS8
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